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Solve The Following Questions Any Four

1. Find the medium of : 

66, 98, 54, 92, 87, 63, 72,

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mgazLJg9rwBe


Watch Video Solution

2. Multiply and write the answer in the

simplest form 

Watch Video Solution

5√7 × 2√7

3. IF  then find

the value of 

Watch Video Solution

3x + 5Y = 9 and 5x + 3y = 7

x + y

https://dl.doubtnut.com/l/_mgazLJg9rwBe
https://dl.doubtnut.com/l/_hL5aMrfMhJ4z
https://dl.doubtnut.com/l/_r1k3zV4EhWQ4


4. Write the ratio of second quantity of first

quantity in the reduced form: 5 dozen pens,

120 pens.

Watch Video Solution

5. Write the following polynomial in coefficient

form : 

Watch Video Solution

2x3 + x2 − 3x + 4

https://dl.doubtnut.com/l/_r1k3zV4EhWQ4
https://dl.doubtnut.com/l/_HpBoBfcSy4JK
https://dl.doubtnut.com/l/_IbQRDEEkmSqn


Solve The Following Questions Any Two

6. for computation of income tax which is the

assesment year of financial year 01-04-2016 to

31-03-2017?

Watch Video Solution

1. Find the value of the polynomical 

when x=-1

Watch Video Solution

2x3 + 2x,

https://dl.doubtnut.com/l/_d0wmZIJDyXWe
https://dl.doubtnut.com/l/_bqR4pA01lQBd


2. IF

.

Then find 

(a)  


Watch Video Solution

A = {11, 21, 31, 41}, B = {12, 22, 31, 32}

A ∪ B

(b)A ∩ B

3. Sangeeta 's monthy income is Rs. 25,000 she

spent 90 % of her income and donated 3% for

https://dl.doubtnut.com/l/_bqR4pA01lQBd
https://dl.doubtnut.com/l/_r3MAppb77lHV
https://dl.doubtnut.com/l/_uOR2A1WLKm7n


socially useful causes How much money did

she save

Watch Video Solution

4. First term and common differnce of an A.P

are 12 and 4 respectively if  find n.

Watch Video Solution

tn = 96

5.  then find the value of m .

Watch Video Solution

If  
∣
∣
∣

4 5

m 3

∣
∣
∣

= 22

https://dl.doubtnut.com/l/_uOR2A1WLKm7n
https://dl.doubtnut.com/l/_AVtYUYMEYeZC
https://dl.doubtnut.com/l/_GwDQFeJheLjC


6. Solve the following quadratic equation 

Watch Video Solution

x2 + 8x + 15 = 0

7. Find the  term of the 

Watch Video Solution

9th A. P7, 13, 19, 25

https://dl.doubtnut.com/l/_GwDQFeJheLjC
https://dl.doubtnut.com/l/_8mU2L6XQGLS3
https://dl.doubtnut.com/l/_3NpC03fwqu3v


Choose The Correct Alternative

8. Obtain a quandratic equation whose roots

are -3 and -7

Watch Video Solution

9. Two number differ by . 3 the sum of the

greater number and twise the smaller number

is 15. Find the smaller number .

Watch Video Solution

https://dl.doubtnut.com/l/_5iLJzH9RFSG7
https://dl.doubtnut.com/l/_ktrxk7IvpBRl


1. In the A .P 2,-2,-6,-10,….. Common differnce (d)

is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−4

2

−2

4

https://dl.doubtnut.com/l/_NzAD2TiKtZxh


2. For the quadratic equation

 , the value of a,b, c are :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 + 10x − 7 = 0

a = − 1, b = 10, c = 7

a = 1, b = − 10, c = − 7

a = 1, b = 10, c = − 7

a = 1, b = 10, c = 7

https://dl.doubtnut.com/l/_T0tW8Pne1zht
https://dl.doubtnut.com/l/_gnpMlrIdFzMa


3. The tax levied by the Central government for

trading within state is

A. IGST

B. CGST

C. SGST

D. UTGST

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_gnpMlrIdFzMa


4. If a die is rolled , what is the probability that

number appearing on upper face is less than 2

?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

3

1

2

1

1

6

https://dl.doubtnut.com/l/_EdZVe1X6PhxT


Complete The Following Activites Any Two

1. Smita invested Rupees 12,000 to purchase

shares of FV Rupess 10at a premium of Rupees

2. Find the number of shares she purchased.

Completed the given activity to get the answer

Watch Video Solution

2. Two coins are tossed simultaneously

.Complete the following activity of writing the

sample space (S ) and expected outocomes of

https://dl.doubtnut.com/l/_bo833jzKR1rf
https://dl.doubtnut.com/l/_GQMNAF3LessE


Solve The Following Questions Any Three

the events . 

a. Event A : to get at least one head 

b. Event B : to get no head . 

Watch Video Solution

1. Amit saves certain amount every month in a

specific way .In the first month he saves Rs.

https://dl.doubtnut.com/l/_GQMNAF3LessE
https://dl.doubtnut.com/l/_1miIoPRAqAvp


200 . In the second month Rs. 250 In the third

month Rs. 300 and so no .How much will be his

total savings in 17 month s ?

Watch Video Solution

2. A two digit number is to be formed using

the digits 0,1,2,3 Repetion of the digits is

allowed .Find the prochased that a number so

formed is a prime number

Watch Video Solution

https://dl.doubtnut.com/l/_1miIoPRAqAvp
https://dl.doubtnut.com/l/_7SQYfEH6UtTu
https://dl.doubtnut.com/l/_ImUEuZDu3V6S


3. Smt .Malhotra purchased solar penls for the

taxable value of Rs. 85,000 she sold them for

Rs. 90,000 the rate of GST is 5% Find the ITC of

smt Malhotta , what is the amount of GST

payable by her ?

Watch Video Solution

4. Solve the following simultaneous equations

grahically 

Watch Video Solution

x + y = 0, 2x − y = 9

https://dl.doubtnut.com/l/_ImUEuZDu3V6S
https://dl.doubtnut.com/l/_Otv78mj6X9CA


Solve The Following Questions Any One

1. The following frequency distbution table

shows marks obtained by 180 students in

Mathematics examination 

 


Find the value of x .

Watch Video Solution

https://dl.doubtnut.com/l/_Otv78mj6X9CA
https://dl.doubtnut.com/l/_HudEHCkySxy6


2. Two taps tpgether can fill a tank completely

in  minutes .The smaller tap takes 3

minutes more than the bigger tap to fill the

tank .How much time does each tap take to fill

the tank completely

Watch Video Solution

3
1

13

3. The Co-ordinations of the point of

intersection of lines

https://dl.doubtnut.com/l/_uS7K6cgeb2FC
https://dl.doubtnut.com/l/_gPOTLLszWUKB


 is 

find the values of a and b.

Watch Video Solution

ax + by = 9 and bx + ay = 5 (3, − 1)

4. The following frequency distribution table

shows the distances travelled by some rickaws

in a day .Observe the table and answer the

following : 

 

a. Which is the modal class ? Why ? 

https://dl.doubtnut.com/l/_gPOTLLszWUKB
https://dl.doubtnut.com/l/_uNkdlCqUFXpo


b. Which is the medium class and why ? 

c. Write the cumulative frequency (C.F ) of the

preceding the medium class . 

d. what is the class interval (h) calculate

medium ?

Watch Video Solution

https://dl.doubtnut.com/l/_uNkdlCqUFXpo

